Assembly Instructions

Closed Stand (Stock No. 708597)
for use with Model JSG-96 Disc/Belt Sander

/A WARNING: This product can expose you to chemicals including lead which is known to the State of
California to cause cancer and birth defects or other reproductive harm. For more information go to
http://www.p65warnings.ca.gov.

Bolt the JSG-96 Disc/Belt sander base to the
closed stand with four 3/8” x 3” hex cap screws
(Fig.1, Item A), four 3/8” lock washers (Fig.1,
Item B), eight 3/8” flat washers (Fig.1, Item C),
and four hex nuts (Fig.1, ltem D). These
fasteners come with the closed stand.

Fig.1
JET
427 New Sanford Road
LaVergne, Tennessee 37086 Part No. M-708597
Ph.: 800-274-6848 Revision A2 11/2018

www.jettools.com Copyright © 2014 JET, a Division of JPW Industries, Inc.



Parts Breakdown for the JSG-96 Closed Stand

Index No. Part No. Description Size Qty
T JSG96-301............... BaSE e e e—————— s 1
2 e JSG96-302............... LOCK NUL ..., 318 e 4
K R PJE-SOS.......oeeee.... LA 1= 7= R 4
4o, JSG96-304............... Hex Head SCrew ..........oovveeeiiiiiieeeeeeeeeeee 3/8x2-1/2......ccoeueeenn.. 4
5 . JSG96-305............... R =1 1 SRR 1
T PJN-SO04................... ECCentric Cami.. ..o 2
AR JSG96-307............... SEESCIrEW...c.eeeeeeeeeeeeeeeeeeeeeeeeeeeeaaeaeeeaaaaees MBXT10 ..ccovveveeeeeiereee 2
8 e JSG96-308............... 8701 1o SRR 2
9. JSG96-309............... ] I o L T 2
10 s PJN-S02........cceeee... FOOL BraKe.....ooiii ittt e s e e e e e e e s e e e e e e e 1
L PP JSG96-311............... LOCK NUL ..o M10X1.5....ccoeeeie 1
12 . TS-0720091 ............. Lock Washer ... 318 4
13 s TS-0680041 ............. Flat Washer” ... 318 8
14 ... JSG96-314................ Lo Lo IS =Y | R 1
15 . TS-0060031 ............. Hex Head Screw™..........cccooeiiiiiieeeeeeeeee 3/8X3/4 .. 1
16 . JSG96-316............... Washer® ... 3/8x1-1/8 .. 1
17 . JET-203 ................... | = I o To o TSRS 203x84mm.................. 1
18 s JSG96-318............... DOOK .. 1
19 i, JSG96-319............... LatCh e 1
20 ............. JSG96-320............... SCIBW ..ottt seaesaasaeseaasnnes M3 2
21 e JSG96-321............... Do o] il 1Yo ) S SPPPPRRRRR 1
22 JSG96-127............... SCIBW ..ottt avavebarebaraees 1/4X3/8 ... 2
23 e TS-0561011 ............. HEX NUL ... L] 2
24 ... TS-0060131 ............. Hex Head Screw™..........cccooeeeiiiecvieieeeeeeeeeee 3/8X3 e 4
25 TS-0561031 ............. HeX NUE ..o 318 4
................. STRIPE-1-3/4...........JET Stripe (not shown) .........ccccccviiviiniinn . 1-3/47w o per L

................. JSG96-HKC .............Hardware Kit for Closed Stand (includes items marked with *)



